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nsrigb?ar Section Error Correction
Pg7 | No3() | 3 65078 =60000+5000+5+8 3. 65078 =60000+5000+5S+8
(a) What is the value of 5? DHeL2 la) What is the value of 5? DHPL2
65078
(b) Partition 73 142 according to the place (b) Partition #3-42 according to the place
values. DpLz values. DHPL2
Pg 38 No 1
I. Joanne measured the distance from her I. Joanne measured the distance from her
house to school. Which measurement is house to school. Which measurement is
the most possible answer? the most possible answer?
B 20cm D 200 km E -]Egtm D -’-]‘ggkm




Pg 41 No 1 558
I. The lengths of two rolls of red ribbons are
85 cm 7 mm and 588 mm each. I. The lengths of ’rwoégs of red ribbons are
(@) Calculate the total length, in cm and 85 cm 7 mm and mm each.
mm. of both red ribbons. HeL4 (a) Calculate the total length, in cm and
mm, of both red ribbons. DPLa
J1 Practice
UPSR 2
Subjective
No4(®d) | 4 (a) 6.504 ¢ (b) 13.008 ¢ 4. (a) 6.504 ¢ (b) +8-00& / -
J2 Practice
UPSR 4
ot days
No 1 (b) I. (a) 4 weeks 2 days (b) 6 weeks 6 months I. (a) 4 weeks 2 days (b) 6 weeks 6 menths
2. (a) 12 years (b) 5 years 3 months 2. (a) 12 years (b) 5 years 3 months
J3 Practice
UPSR 6
Subjective | 5. (a) 12 cm? 5. (a) 12 cm?
Qﬁff-,n?br;s (b) 20 cm? (b) 20 CI"l'i‘2

(c) segitiga QRS M

(c) segitiga QRS M




